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~ CIJFEREN: vermenigvuldigen zonder onthouden.

230 % 2 = 460 440 X 2= 820 330 1.3= 990 320 x3= 960
DIH|TI|E DlHlT[E] |DJHITE DIH|TI|E
21311 441 .ﬁ 31313 31211
X 213 7 : 31X 3
i 6 ' BE XX 9(919 ' 91613

240 X 2= 43D Y420 x 2= BHO 240 x 4 =340 110 X 3= 330
DIH|TI]E DIH|TI|E DIHI|TI|E DIH|TJ|E
2141 4 41214 21112 11112
3 21X 2 X 4.1 X 3

41 8|8 3/ 418 81413 131316

330 ¥ 2 = 660 H4Q K 2= 330 AQ X b= 660 220 X 2=44o
D|HITI|E DIHI|TI|E D|H|TIE DIH|T]|E
31313 41414 11111 2124
X 2 | X 21X & 1 X 7
Gl6(6 31818 61616 yiuid

100 X_3 =300 400 X 2=800 220 X 2% H4O 330x 3= 90
DIH|T|E DIH|T|E DIH|TI|E DIHITIE
11013 41011 21210 31310
X 3 2 1> - 2 1> 3
321019 1012 i4io 9 816

yo ¥ 2= 80 20 X 3= 60 120 X 4 = 4o 240 X 3= 630

DIH|TI|E DIH|TIE’ DIH|TJ]E DIH|T|E
412 213 | 1210 21113

X 2 | 31 x 4|3 3
B 1y 619 y [ 3]0 167319

A4O X 2 = 2830 320 x 3:=960 A20 X 2 =140 20 X 2=HO
DIH|TJ|E DIH|T|E DIH|TIE DIH|T]|E
17410 31211 11212 2| 4

2 | % 3 |x 2 2

121316 31613 214y 4y [ g




